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Instructions to Candidates

1. Time allowed is one hour.

2. Attempt all questions.

3. All questions carry equal marks.
4. Mark your answers in OMR sheet.
5. There is no negative marking.

SECTION- I

GENERAL AWARENESS OF BUSINESS/ECONOMICS/FINANCE

1. Which investment bank was declared insolvent in US? 

a. Standard Chartered




b. Citi bank

c. Lehmann brothers

d. Franklin tempelton

2. which of the followings is a long term source of finance

a. equity shares





b. factoring

c. accruals

d. commercial paper

3. ‘Overdraft’ facility is provided in

a. Saving bank account




b. Current account

c. Fixed deposit account

d. Recurring deposit account

4. A person who finds buyers as well as guarantees the payment of price on their behalf is called

a. commission agent





b. clearing agent

c. del credere agent

d. forwarding agent

5. Merger of two textile firms is an example of

a. vertical merger





b. horizontal merger

c. conglomerate merger

d. vertical diversification

6. ‘Principle of Subrogation’ do not applies to

a. fire insurance





b. marine insurance

c. life insurance

d. none of these
SECTION- II

NUMERICAL ABILITY

7. Fill in the next number in the series




3, 12, 4, 9,5,6,6,

(a) 6








(b) 8

(c) 3

(d) 4

8. . What is 30% of 450?

(a) 150







(b) 135

(c) 180

(d) 1350

9. It was Wednesday on July 15, 1964. What was the day on 15, July 1965?

(a) Thursday







(b) Tuesday

(c) Friday

(d) None of These

10. The number of boys in a class are 4 times the number of girls. Which of the following number cannot be the total number of students in the class

(a) 40








(b) 45

(c) 42

(d) 50

11. The average of X1, X2, X3 and X4 is 16. Half the sum of X2, X3 and X4 is 23. What is the value of  X1 

(a) 18








(b) 19

(c) 20

(d) 17

12. Members of a club are gentlemen. Some of the members are officers. Officers are invited to a party. Therefore, we deduce that

(a) All members are invited to the party.




(b) All gentlemen are invited to the party.

(c) Officers who are gentlemen are invited to the party.

(d) Some gentlemen are invited to the party.

